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Model Test 1

Section A Conversations

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversation and the questions will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A)、B）、C）and D)、and decide which is the best answer. Then mark the corresponding letter on Answer sheet 2 with a single line through the centre.
1. [A] She went blind in childhood          [B] She went blind at the age of 16

 [C] Few people know that she is blind     [D] She gets up early every morning

2. [A] He drove her to the airport

 [B] He told her to drive to the airport by another route

 [C] He bought her a map of the airport

 [D] He made clear the route to the airport for woman of the map

3. [A] Secretary and boss                 [B] Teacher and student

 [C] Doctor and patient                 [D] Booking office clerk and customer

4. [A] She has been eliminated             [B] She belongs to the last few candidates’ chosen.

 [C] She is writing some essays in order to be employed.  [D] She has already been taken on.

5. [A] At a service station                [B] On a hill

 [C] In an emergency room              [D] In a parking lot

6. [A] Because Tom applied for a job       [B] Because Tom was preferred to others

 [C] Because Tom wanted other jobs      [D] Because Tom was so unlucky

7. [A] Because the snow is not clear enough

 [B] Because the snow is too complicated for her to understand

 [C] Because the room is lack of air, she can’t breathe freely

 [D] Because the room is full of appreciators

8. [A] The man should work in a bank to get money

 [B] The man should withdraw all his money from the bank

 [C] The man should try to borrow money from his friend 

 [D] The man should try to get a loan from a bank 

Questions 9 to 12are based on the conversation you have just heard.
9. [A] An alternative use of fuel oil                [B] A way to make fuel oil less polluting

 [C] A new method for locating underground oil     [D] A new source of fuel oil

10. [A] To produce a gas containing carbon and hydrogen

  [B] To remove impurities from methanol

 [C] To heat the reactors               [D] To prevent dangerous gases from forming

11. [A] It hasn’t been fully tested           [B] It’s quite expensive

 [C] It uses up scarce minerals          [D] The gas it produces is harmful to the environment

12. [A] He will go to the library to find more information

 [B] He will go to the class with the woman 

 [C] He will turn to his own professor for help    [D] He will go to Anderson Hall

Questions 13 to 14are based on the conversation you have just heard.
13. [A] Because the library assistant thinks he has an overdue book

 [B] Because the books he needs have been checked out by someone else 

 [C] Because the library assistant is unable to locate the books that he needs

  [D] Because a library notice was sent to him at his previous address

14. [A] The man has mistakenly received someone else’s book

 [B] The man changed his major from art to business 

 [C] The man recently moved off campus    [D]There is another person with the same name.

Section B 

Passage One 

Questions 15 to 18are based on the passage you have just heard.

15. [A] See if he is related to any of the students    [B] Apply for a job as a library assistant

 [C] Use his middle name                    [D] Use a different library

16. [A] At a school                           [B] At an exhibition 

[C] At a government institution               [D] At a research institution

17. [A] Location of the school                  [B] Structure of the school 

 [C] Layout of the school                    [D] Regulations of the school

18. [A] He is not a very formal person            [B] He is a busy person

 [C] He is not a very active person             [D] He is a very strict person

Passage Two

Questions 19 to 21are based on the passage you have just heard.
19. [A] Climbed the trees along the coast   

[B] Played on the sands by the sea with other children

 [C] Went boating by the sea                 [D] Made trains or cars out of the sand

20. [A] Went fishing                          [B] Climbed the mountains

 [C] Walked in the country                   [D] Played cards

21. [A] Sandcastles                           [B] Sweets and warm sands

 [C] The sun, the warm sand, and the sound of waves   [D] Wine

Passage Three 

Questions 22 to 25are based on the passage you have just heard.
22. [A] The invention of primitive weapons and language 

[B] The invention of language and the discovery of fire

 [C] The invention of primitive weapons and the discovery of fire

 [D] The invention of primitive weapons and the development of human brain

23. [A] The professional instruction            [B] The human brain

 [C] Cries                              [D] Signals

24. [A] Picture language preceded oral language   [B] Oral language preceded picture language

 [C] They developed side by side   [D] Picture language is more important than oral language

25. [A] Its origin is not obscure   

[B] It’s possible for apes to speak human language, but an intensive professional instruction is necessary

 [C] There are people who doubt that it began very gradually

 [D] It has been the most important single factor in the development of man

Model Test 2

Section A Conversations

1. A. He didn't expect there would be so many books.

B. Four books are a lot to borrow from the library.

C. He wasn't sure she counted all her hooks.

D. He would like to return books for her.

2. A. He has arranged to take the exam next year.

B. He is pleased, since the woman offered to help him.

C. He has reason to be happy, despite the exam.

D. He actually did very well in the exam.

3. A. To clean the yard.             B. To weed the garden.

C. To hire a gardener.            D. To work in the flowerbeds.

4. A. Buy three good pairs.          B. Buy three cheap pairs

  C. Buy one good pair.            D. Buy one cheap pair.

5. A. They were in a car accident with only his wife injured.

B. They were in a car accident with neither of them injured.

C. They were in a car accident with only John injured.

D. They were both injured in a car accident. 

6. A. Their appointment is at ten o’clock.

B. The professor is waiting for their call.

C. They should call the professor after the meeting.

D. They should wait until the next day.

7. A. Lost her job.                 B. Busy with her children.

C. Busy with her new job.         D. Her husband won't let her go there.

8. A. They should definitely do it.     B. They can't find the means to do it.

C. It would be a meaningless act.    D. She had meant to do it earlier

Questions 9 to 12 are based on the conversation you have just heard.

9. A. A class presentation they're preparing.

B. A television program the man is watching.

C. Visiting a close friend of theirs.

D. Studying for a test.

10. A. He's taking a break from studying.

B. He has already finished studying.

C. He was assigned to watch a program by his professor.

D. He's finding out some information for a friend.

11. A. Because Elizabeth is the woman's friend.

B. Because Elizabeth is a famous star in TV.

C. Because Elizabeth is good at linear algebra.

D. Because Elizabeth is the dreaming-girl of the man.

12. A. He and Elizabeth argued recently.

B. He heard Elizabeth did poorly on the last test.

C. He doesn't want to bother Elizabeth so late in the evening.

D. He'd rather study in his own dormitory.

Questions 13 to 15 are based on the conversation you have just heard.

13. A. It's only open to poetry majors.     B. It requires another class first.

C. it's already full.                  D. It's only offered in the morning.

14. A. All the other work schedules conflict with his classes.

   B. He doesn't want to ask his boss for another favor.

   C. He wants to work the same schedule as his friends.

   D. He likes to do his homework in the evening.

15. A. Its courses cost less.              B. It’s close to where he works.

   C. The class size is smaller.           D. It may offer the class he needs during the day.

Section B

Passage One

Questions 16 to 18 are based on the passage you have just heard. 

16. A. They have no effect on it.          B. They help promote it slightly.

C. They help promote it greatly.       D. They tend generally to limit it.

17. A. Bank savings.                   B. Productive investment.

C. Population.                     D. Property purchases.

18. A. Precious metals.                 B. Population pressures.

C. Government policies.             D. Agricultural practices. 

Passage Two

Questions 19 to 21 are based on the passage you have just heard. 

19. A. He believes that history professors are poorly prepared.

B. He believes that most students are lazy.

C. He believes that professors fail to present facts in an interesting way.

D. He believes that most students feel that history is a waste of time.

20. A. In Boston.                     B. In Concord

C. In Lexington                   D. In Britain.

21. A. That the British were retreating to the Charles River.

B. That the British would attack by sea.

C. That the British were willing to sign a declaration of independence.

D. That the British had won the first two battles of the Revolution. 

Passage Three

Questions 22 to 25 are based on the passage you have just heard. 

22. A. Training given to music therapists.   B. How music prevents disease. 

C. Studies on the benefits of music.     D. How musicians create music.

23. A. To relieve tension.                B. To control brain seizures. 

C. To prevent heat disease.            D. In place of physical therapy.

24. A. They liked to have music in the operating room.

   B. They solved problems better while listening to music they liked.

   C. They preferred classical music.

   D. They performed better when they used headphones.

25. A. It increased the students’ white blood cell count.

   B. It increased some students’ energy level.

   C. It released a natural painkiller in some students' bodies.

   D. It improved the students’ ability to play musical instruments.

Model Test 3

Section A Conversations

1. [A] Don’t drink beer    [B] Don’t use ice    [C] Drink dark beer    [D] Boil the beer

2. [A] Jessica may miss the sports meeting    [B] Jessica may be late for the opening ceremony

 [C] Jessica may not come by train         [D] Jessica may have caught a wrong train

3. [A] The woman doesn’t think it was the man’s fault 

 [B] The woman thanks the man for his absence

 [C] The woman blames the traffic jam      [D] The woman blames the man for his absence

4. [A] Watching a game with her husband     [B] Going to a game

 [C] Her husband’ absence                [D] Her husband’s watching a game

5. [A] Since last year    [B] For a few days   [C] For a few hours   [D] For several weeks

6. [A] The man enjoyed the movie very much  [B] The man saw a horror movie

 [C] The woman asked the man to be careful at night 

[D] The woman went to the show with the man

7. [A] He has been offered a new job       [B] He has been granted leave for a month

 [C] He has been fired by the company    [D] He has been dismissed for his poor performance

8. [A] John will see Joan tomorrow evening   [B] John might be at home late tomorrow evening

 [C] John and Joan have decided to go on a holiday 

 [D] John asked the woman to come another time

Questions 9 to 12are based on the conversation you have just heard.
9. [A] A more economical diesel fuel          [B] Characteristics of a new type of fuel

 [C] Where a new energy source is located    [D] How to develop alternative energy sources

10. [A] He’s studying for a test               [B] He lost his notes

 [C] He missed the class                  [D] He’s doing research on alternative

11. [A] It will reduce the amount of pollutants in the air

 [B] It will increase the amount of unpleasant odors from vehicles

 [C] It will eventually destroy the ozone layer

 [D] It will reduce the cost of running large vehicles

[A] To help him explain the information to his roommate  

   [B] To help him write a paper

 [C] To prepare for a test    

 [D] To tell her if the notes are accurate

Questions 13 to 15are based on the conversation you have just heard.
13. [A] All students pay the same amount per year 

 [B] Students choose how many meals a week they will pay for

 [C] Students get money back for meals they don’t eat      [D] Some students get free meals

14. [A] They can invite guests to meals at a reduced price 

 [B] They receive cards that allow them to be served first

 [C] They can help decide what will be on the menu

  [D] They pay less per meal than those who eat there only part of the time

15. [A] By paying for meals one at a time        [B] By borrowing a student’s meal card

 [C] By ordering their meals in advance       [D] By buying a weekend meal card

Section B 

Passage One

Questions 16 to 18are based on the passage you have just heard.

16. [A] Because each flat has its own car park    [B] Because they always have flat roofs

[C] Because they have more services        [D] Because they are bigger

17. [A] They have central heating and air-conditioning systems

[B] They have everything that people need

 [C] They are well-planned                 [D] Many people live in them

18. [A] Flat roofs can be used for drying washing 

[B] The space is needed for cinemas, clubs and churches

 [C] The space is useful for parking cars       [D] It is a cheap way of building

Passage Two  

Questions 19 to 21are based on the passage you have just heard.
19. [A] It is being rapidly expanded             [B] It is found in one million homes

 [C] It is relatively low                     [D] It is very well established

20. [A] They are made of metal and glass         [B] They cost about $50

 [C] They are usually found on the roof        [D] They look like sandwiches

21. [A] It is expected to be a $3 billion industry    [B] It is expected to be a $13 billion industry

 [C] It is expected to be a $1.13 billion industry  

[D] It is expected to be a $1.3 billion industry

Passage Three   

Questions 22 to 25are based on the passage you have just heard.
22. [A] The workers on the underground platforms were replaced by machines

[B] It became the first completely automatic railway in the world

 [C] A completely automatic line was added to its network 

 [D] Its trains became computer-controlled

23. [A] A platform worker   [B] The command spot    [C] A computer    [D] A machine

24. [A] To drive the train after it is started automatically 

[B] To start the train and to drive it when necessary

 [C] To take care of the passengers on the train  

 [D] To send commanding signals to the command spot

25. [A] It will stop automatically           [B] It will move on at the same speed

 [C] It will gradually slow down         [D] It will keep a safe distance from the other trains

Model Test 4

Section A

11. A His swimming skill is too poor to survive.

   B. His desired job doesn’t pay much.

C. He didn’t get the job he counted on.

D. He doesn’t have enough money now.

12. A. The women feels more at ease with the computer.

   B. The women deals with complicated things more easily.

   C. The man hasn’t realized the popularity of the computer.

D. The man isn’t intelligent enough to be a computer major.

13. A. It’s too fast for him to follow.       B. It’s somewhat beyond comprehension.

C. It’s been quite enjoyable so far.      D. It’s more appealing than expected.

14. A. Making phone calls to a friend       B. Camping in the countryside.

C. Touring in a wonderful city.         D. discussing a weekend plan.

15. A. She questions the man’s purpose.     B. She doesn’t like parties.

C. She is fully engaged.               D. She has an invitation already.

16. A. He was held up by the traffic jam.     B. His secretary forgot to remind him of it.

C. He was a stranger to the place        D. He forgot where to meet the woman.

17. A. The man wonders how critics will review the show.

B. The man will help the woman sell her paintings.

C. The woman is confident in the exhibit of her paintings.

D. The woman dreams of becoming a critic someday.

18. A. Youngsters don’t really know what is fashion.

B. People should care more about their appearance. 

C. Styles change more quickly than necessary nowadays.

D. It’s not sensible to go after brand name clothing.

Conversation One
19. A. She feels embarrassed when speaking in public.
B. Her presentation receives a poor grade.

C. She has not completed her assignment.

   D. She is unable to attend her psychology class.

20. A. Leave as quickly as possible.         B. Look at the exit sign.

C. Don’t stand up.                    D. Ask het professor not to call her.

21. A. They blush more than women do.      B. They perform uncomfortably in front of adults.

C. They can’t suffer psychological stress.  D. They blush less frequently than adults do.

Conversation two

22. A. He forgot to buy his wife’s favorite flowers.

B. He forgot the exact date of their anniversary.

C. He didn’t take his wife out last week.   D. He failed to fulfill his dream.

23. A. A nice trip to Chicago and Europe.     B. A week alone at a hot springs resort.

C. Comfortable days at high-class accommodations.

D. Quiet nights with bright stars and a blue moon.

24. A. The old one doesn’t work             B. The old one burns the woman’s meals.

C. The old one is too small for the family.  D. The old one always leaks gas.

25. A. Talking with friends about the trip.     B. Having lunch quickly.

C. Buying some travel books.           D. Checking their car at the garage.

Section B

Passage One

26. A. Saving natural resources.            B. Cultivating rare plants

C. Hunting for animal experts.          D. Protecting threatened species.

27. A. Ocean currents.                    B. Climate disorder.

C. Human being                      D. Natural disasters.

28. A. It has threatened the normal life of other animals.

B. It’s an example of victims of habitat destruction.

C. It’s the most special sea life in these two countries.

D. it has totally disappeared from these two countries.

29. A. Species protection methods are effective.

B. More people are changing their behavior.

C. New energy substitutes are found for future use.

D .The whole population of birds is increasing.

Passage Two

30. A. How to make computers more intelligent.   B. How to increase scientific productivity.

C. Whether humans are getting smarter.       D. Whether video games help improve IQ.

31. A. People’s IQ scores keep rising for the past half century.

B. Average people have lower IQ scores than decades ago.

C. Kids are better at school than the previous generation.

D. Parents are under more pressure than their children.

32. A. Scientists are more creative.              B. There is no upward trend.

C. New inventions are springing.            D. there is a boom in business.

Passage three

33. A. It influences American’s value of life. 

B. It expresses American’s feelings vividly.

C. It evolves with the development of America.

D. It reflects American’s preoccupation with time.

34. A .One should be compensated for working overtime.

B. One should have a detailed daily plan on his work.

C. It’s hard to balance work and family in today’s society.

D. Time during nonworking hours is not very precious.

35. A. The interpersonal relationship.            B. The high pressure.

C. The servant system.                     D. The rapid progress.

Model Test 5

Section A

11. A. He doesn’t think he’s spent too much time on study.

B. He doesn’t know how to relieve himself.

   C. He’ll be more stressful if he lags behind his classmates.

D. He’ll go out for some fresh air as advised.

12. A. Whether the concert is as good as expected.  B. Whether he can get access to the concert.

 C. Whether the tickets will be too expensive.   D. Whether he has time on Saturday.

13. A. It is a rare opportunity.                  B. It is beyond their means.

C. It is not decided yet.                    D. It is what they have earned.

14. A. He is timid.                           B. He is heroic.

   C. He is dangerous.                       D. He is clumsy.

15. A. Landlord and lodger.                    B. Receptionist and guest.

C. Salesman and client.                    D. Policeman and driver.

16. A. Take the safety of his parents-in-law into account.

B. Ask his parents-in-law to make the decision.

C. Invite his parents-in-law to a sight-seeing restaurant.

D. Buy his parents-in-law some pets instead.

17. A. She was running a fever.                B. She had to run a long way to the meeting.

C. She was involved in a car accident.       D. She had her car stolen near the supermarket.

18. A. They don't go to see the films as often as they did.

B. They've ever dreamed of going to the moon once.

C. They lived in the same neighborhood when young.

   D. They like contemporary movies better than before.

Conversation One

19. A. Education.     B. Medicine.       C. Technology       D. Food

20. A. Growing yet uncertain.             B. Expanding and secure.

C. Contracting, yet stable.             D. Declining and insecure.

21. A. He dropped out of high school.       B. He has some post-secondary education.

C. He has a college degree.            D. He was deprived of the right to go to school.

Conversation Two

22. A. A test on the rules of the road.        B. A motor race on streets around town.

C. A ride from his home to his office.     D. His road test to get his license.

23. A. In a commercial area.               B. In a residential district.

C. In a school zone.                   D. On a winding trail.

24. A. Crashed into another vehicle.         B. Hit a passer-by.

C. Forgot to signal when taking a turn.    D. Got on a pedestrian street.

25. A He should come on Friday to take her place.

   B. He’d better take more driving lessons.

C. He'd better take the test with another officer.

D. He should have his car checked thoroughly.

Section B

Passage One

26. A. She was the first female Doctor of Medicine.

   B. She was the best nineteenth-century physician.

   C. She studied at many famous medical schools.

D. She practiced medicine in Asia and Africa.

27. A. Because she threatened their status.     B. Because she was too aggressive.

C. Because they had sex discrimination.    D. Because they disliked foreign students.

28. A. She worked as a peacemaker between the U.S. and UK.

B. She founded the first private infirmary in Britain.

C. She advocated women liberation movements.

D. She introduced the idea of disease prevention to schools.

Passage two

29. A. These regions are still attracting people from other areas.

B. The freezing winter drives people away from these regions.

C. Many people come to these regions on holiday for winter sports.

D. There are almost no people left in these regions in winter.

30. A. To take a trip all over the world.

B. To spare some money for their children.

C. To begin a new life in warmer weather.

D. There are almost no people left in these regions in winter.

31. A. Population.        B. Industry.        C. Education.         D. Welfare.

Passage Three

32. A. To enjoy sailing as a popular sport.       B. To enjoy the breath-taking scenery.

C. To admire its grandness and power.       D. To tour through Europe alongside it.

33. A. They are open to tourists all the time.     B. Some of them are used as accommodation.

C. There are ghosts lingering in the castles.   D. There's not enough money to preserve them.

34. A. The dangerous twists and turns along the course.

B. The changeable weather in a single day in North Germany.

C. The preparation for there being too many people. 

D. The high expenditure on accommodation and traffic.

35. A. By taking advantage of ferries.           B. By crossing bridges.

C. By getting through tunnels              D. By riding submarines.

Model Test 6

Section A

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversation and the questions will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A)、B）、C）and D)、and decide which is the best answer. Then mark the corresponding letter on Answer sheet 2 with a single line through the centre.

11. A) It started to rain when she was at the beach.

B) She’d like the man to go to the beach with her.

C) The forecast calls for more rains tomorrow.

D) She won’t go to the beach tomorrow if it rains.

12. A) She finds reading the newspaper rarely pleasurable.

B) She prefers reading the newspaper when she gets the time.

C) She enjoys reading fiction but rarely get the time.

D) She likes reading rare books for pleasure.

13. A) He will change his original plan at once.

　 B) He will attend both the party and dinner.

C) He regrets that he won’t go to the dinner.

D) He wouldn’t like to attend his brother’s birthday party.

14. A) The man is always too careless.        B) The man doesn’t know they are on the desk.

C) The man’s assistant often puts things in improper places.

D) The man’s assistant doesn’t tell the man clearly.

15. A) Go for a walk alone the lake.           B) Speak before the class.

C) Enjoy the sunshine.                   D) Prepare the presentation.

16. A) He’s already finished the program.       B) He doesn’t have interest in the program.

C) He doesn’t know the nurse.             D) He’d like to get additional information.

17. A) In a hotel.    B) In a shopping center.    C) At an office.     D) In a hospital.

18. A) Student life is supposed to be difficult.    B) Good grades take some sacrifice.

C) Good grades are easy to get.            D) Her grades are improved.

Questions 19 to 21 are based on the conversation you have just heard. 

19. A) He went to visit his friends in Pennsylvania.   B) He went out on a picnic.

C) He went to a concert.                     D) He went to a formal dinner.

20. A) People like to amuse themselves with their own entertainment.                     

B) People do not like public entertainment.      C) It is not much fun living in a small town.

D) There is not much public entertainment in a small town.

21. A) Picnic.      B) Potluck.      C) Informal meals.     D) Formal meals.

Questions 22 to 25 are based on the conversation you have just heard.

22. A) She has too few holidays.               B) She needs to deal with different people.

C) It’s sometimes dangerous to drive at night  D) She has to work when the weather is bad.

23. A) Seeing interesting buildings in the city.    B) Being able to enjoy the world.

C) Driving in unsettled weather.            D) Taking long drives outside the city.

24. A) Rather difficult to please.               B) Rude to women drivers.

C) Talkative and generous with tips.         D) Different in personality.

25. A) She complains a lot.                   B) She plans to quit her job.

C) She is often criticized by her consumers.   D) She is very familiar with the city.

Section B

Directions: In this section you will hear 3 short passages. At the end of each passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A),B),C)and D).Then mark the corresponding letter on Answer sheet 2 with a single line through the centre.

Passage One

Questions 26 to 28 are based on the passage you have just heard.

26. A) Buildings that are environment-friendly.   B) Buildings covered with green plants.

C) Buildings painted green.                D) Buildings with green house effect.

27. A) Draining wild habitats.                  B) Making use of the developed land.

C) Clearing the ground in a forest.           D) Developing new land.

28. A) Because they do not move into a green building.

B) Because they fail to move into a green building.

C) Because they think that solar panels still cost too much.

D) Because they find it more costly to live in a green building.

Passage Two

Questions 29 to 31 are based as the passage you have just heard.

29. A) They ran a high fever.                  B) They died from excessive bleeding.

C) Their nervous system was damaged.       D) They suffered from heart-attack.

30. A) Through food.    B) Through air.   C) Through animal.    D) Through body fluids.

31. A) To see what happened to the survivors of the outbreak.

B) To study animals that can also get infected with the disease.

C) To find out where the virus originates.

D) To look for the plants that could cure the disease.

Passage Three

Questions 32 to 35 are based on the passage you have just heard.

32. A) The advantage of traditional surveying methods.

B) Using satellites to communicate with mountain climbers.

C) Obtaining new information about a mountain.

D) Controlling satellites from the top of a mountain.

33. A) To indicate how climbers communicated.

B) To show that climbers enjoy many comforts.

C) To show that modern telephones work at high attitudes.

D) To emphasize how small some equipment had become.

34. A) Detailed maps from previous studies.

B) Recent advances in technology.

C) Plenty of funding for the study.

D) Experience carrying heavy loads up mountains.

35. A) To carry information that would help determine elevation.

B) To provide accurate weather report.

C) To relay information from scientists around the world.

D) To indicate which route the mountain climbers should take.

Model Test 7

Section A Conversations

1. [A]Arguing       [B]Protesting            [C]Complaining        [D]Bargaining

2.[A]The apples and pears might not be so good  [B]The apples are not as good as the pears

 [C] The apples and pears are very nice        [D] The apples and pears are as good as they look

3.[A]A train arriving in Boston                [B]A timetable

[C]A map of New York                     [D]Pictures of the trains from Boston to New York

4.[A]She could help him with the problems      [B]He should go out for a while

 [C]She could go out together with him         [D]He should do the problems himself

5.[A]Customer and salesman                  [B]Colleagues
[C]Employee and boss                      [D]Classmates

6.[A]It was probably Mr. Brown’s phone number that the woman wrote down

[B]It was just an hour ago that the man met Mr. Brown

[C]The woman forgot to write down the phone number

[D]The woman needed a sheet of paper to put down the number 

7.[A]He was offered a better job              [B]He works very carefully

 [C]He received a traffic ticket               [D]He always drives through a lot of traffic

8.[A]The woman walks too quickly            [B]The woman is a fast talker   
[C]The woman couldn’t walk               [D]The woman walks slowly

Questions 9 to 12 are based on the conversation you have just heard

[A]The strength of ocean currents     

 [B]The movement of sediment deep in the ocean

 [C]The best methods for studying deep ocean processes 

 [D]A new way of measuring the depth of the ocean

10.[A]Why the book talks about turbidity currents  

  [B]How winds can affect some ocean currents

  [C]The causes of underwater earthquakes       [D]What a turbidity current is

11.[A]It’s cleaner       [B]It’s heavier      [C]It’s warmer       [D]It moves more slowly

12.[A]To explain how winds cause turbidity currents

  [B]To remind the student where ocean sediments originate

  [C]To explain the effects of turbidity currents 

  [D]To remind the student about the next assignment

Question 13 to 15 are based on the conversation you have just heard

13.[A]Places the woman has visited           [B]A paper the woman is writing for a class

[C]School activities they enjoy            [D]The man’s plans for the summer

14.[A]He was never been to Gettysburg       [B]He took a political science course

[C]His family still goes on vacation together [D]He’s interested in the United States Civil War.

15.[A]Why his parents wanted to go to Gettysburg.

  [B]Why his family’s vacation plans changed ten years ago.

  [C]Where his family went for a vacation ten years ago. 

  [D]When his family went on their last vacation.

Section B 

Passage One  

Question 16to18 are based on the passage you have just heard.

16. [A] When he saw a motionless whale for the first time. 

   [B] When he saw an animal for the first time.

   [C] When he saw a one-person underwater vehicle. 

   [D] When he saw an airplane like craft.

17. [A] It is a kind of airplane.              [B] It is a one-person underwater vehicle.

[C] It is a one-person vehicle on the sea.   [D] It is a warship.

18. [A] To fly through the water looking for explorers.

   [B] To show TV programs and films to experimental workers at sea.

   [C] To demonstrate technology for the development of another vehicle of its kind.

   [D] To transport explorers to the very bottom of the sea.

Passage Two   Questions 19 to 21 are based on the passage you have just heard.

19. [A] Because it is fun.                [B] Because they are forced to clean themselves.

   [C] Because they’re proud of their pretty feathers.

   [D] Because they have an instinct for cleanliness.

20. [A] Keep it waterproof.                      [B] Keep it cool in summer.

   [C] Communicate with other birds of the same species.    [D] Allow it to fly.

21. [A] Birds use their beaks to clean their feathers.  [B] Preening is very important to birds.

   [C] The habits of birds are interesting.          [D] How birds clean their feathers.
Passage Three  Questions 22 to 25 are based on the passage you have just heard.

22. [A] The British government.                [B] Ben Franklin

   [C] George Washington.                   [D] The private contractors.

23. [A] He created kite-flying.                 [B] He established a government service.

   [C] He developed a new road.              [D] He established the postal system.

24. [A] Because the horse and wagon were slow.  [B] Because the trains were too fast.

   [C] Because some towns were far away.      [D] Because the communities didn’t like it.

25. [A] The postal service failed.              [B] The postal service has developed a system. 

   [C] It remained the same          
[D] The postal service has developed all over the country.

Model Test 8

Section A

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversation and the questions will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A)、B）、C）and D)、and decide which is the best answer. Then mark the corresponding letter on Answer sheet 2 with a single line through the center.

11. A) Fred agrees with the woman.      B) Fred doesn't like the project.

   C) Fred disagrees with the woman.   D) Fred doesn't want to talk with the woman any more.

12. A) He played his part quiet well.          B) He was not dramatic enough.

   C) He performed better than the secretary.  D) He exaggerated his part.

13. A) Jessie always says what she thinks.     B) Jessie seems to have a lot on her mind.

   C) Jessie is wrong to find fault with her mind.

   D) Jessie should know the marketing director better.

A) The man is sure that he will gain more by taking the job.

   B) The man likes a job that he enables him to travel.

   C) The man is thinking about taking a new job.

   D) The man doesn't want to stay at home and take care of their child.

15. A) The woman should join the chess club.   B) He is not a very good chess player.

   C) The woman needs a lot of time to play chess.

   D) He's willing to reach the woman how to play chess.

16. A) The weather is mild compared to the past year.

   B) They are having the coldest winter ever.

   C) The weather will soon get warmer.      D) The weather may get even colder.

17. A) She sends the man a silver spoon.       B) She asks the man to wait until pay day.

   C) She agrees to lend the man ＄50 on pay day.

   D) She doesn't consent to the man's request.

A) She doesn't have time to collect the data.

   B) She prefers to wait until after the election.

   C) She needs to decide on a method soon.

   D) She'll send out the questionnaire in a month.

Questions 19 to 22 are based on the conversation you have just heard.

A) She is professor Colvin's daughter.      B) She is Professor Colvin's secretary.

   C) She used to do the job herself.          D) She just came out of an interview for the job.

A) It should be higher.                  B) It's very good.

   C) It's the same as the school library pays.

   D) It varies according to the person's experience.

21. A) Making up homework problems.        B) Doing research in the library..

   C) Teaching an introductory economics course.

   D) Grading homework sets.

A) He wonders if he'll have enough time to do the job.

   B) He is afraid he won't know enough to do the job.

   C) He fears that the job may be too boring.

   D) He thinks Professor Colvin has someone else in mind.

Questions 23 to 25 are based on the conversation you have just heard.

A) A lot          B) Very little.         C)A little.       D) Virtually nothing.

A) Camping is very expensive.                  B) Camping is very cheap.

   C) He doesn't know about the price of camping.     D) That depends on different conditions.

A) She is probably going to camping with the man.  B) She will learn more about camping.

   C) She will not join the man.

   D) She will probably talk to other people about camping.

Section B

Directions: In this section you will hear 3 short passages. At the end of each passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A),B),C)and D).Then mark the corresponding letter on Answer sheet 2 with a single line through the center.
Passage one.
A) It is a large meal.                    B) Each member of the family can get together.

   C) It is the important time of the day.       D) Issues and ideas can be discussed together.

27. A) Almost half their money.              B) Almost all their money. 

   C) Almost one-third of their money.        D) Most of their money.

28. A) Right after the food is ready.

   B) Right after the father makes the cross over the bread with a knife.

   C) Right after the mother distributes each member a piece of bread.
   D) Right after the father gives everyone a piece of bread.

A) The famous French food.              B) The French family meal.

   C) The French family reunion.             D) The French table mammers.

Passage Two

30. A) Because he was kind-hearted.           B) Because he was an animal rights activist.

   C) Because he thought it's not a fair play.    D) Because the bear was very beautiful.

31. A) Because the Teddy is the nickname of President Roosevelt..

   B) Because it was practical to ask for President's permission.

   C) Because those bears were designed by President's Roosevelt.

   D) Because the toy bear was made to look a bit like the President.

A) He began to draw various cartoons of the bear.

   B) He started to design toy bears for children.

   C) He collected toy bears and displayed them in museums.

   D) He started a company to make toy bears.
Passage Three

A) The earth is stronger.

   B) The earth is not safe.

   C) The earth is integrated into one entirety.

   D) The earth can be destroyed easily without people's protection.

34. A) Because of the pollution of ocean.         B) Because of hunters who continue whaling.

   C) Because of nuclear waste.                D) Because of many navigations.

35. A) To protect the environment and maintain the balance of nature.

   B) To prevent the killing of whales and seals.

   C) To stop the dumping of nuclear waste at sea.

   D) To persuade governments to pass new laws.
Model Test 9

Section A

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversation and the questions will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A, B, C and D, and decide which is the best answer. Then mark the corresponding letter on Answer Sheet 2 with a single line through the centre.
11. A. They don’t sell shirts here                    B.
The clothes here are very expensive.

C.
They should wait till the clothes are on sale.     D.
He knows they have nice shirts there.

12.
A. Because there is no other woman there.

B.
Because she has planned to go to another restaurant.

C.
Because it will ruin her plan of losing weight.

D.
Because she doesn’t feel she will have fun there.

13.
A. The necessity of contacting Mr. Bush.      B.
Where they are going to meet Mr. Bush.

C.
The arrangement of the Wednesday meeting. D. Who is going to contact Mr. Bush.

14.
A.
He graduates from a drama school.
B. He is very good-looking.

C. He wants to be a star in Hollywood.
D. He practices on speaking a lot.

15.
A. Studying commerce. 
B. Watching TV

C. Enjoying the ads.      
D. Reading a story

16.
A.
A case of bank robbery.   
B. The interview with the bank clerk.

C. The search for reliable witness. 
D. The terrific detective story

17.
A.
Looking for a gift for her husband. 
B. Talking about a TV program

C.
Bargaining with the shop assistant. 
D. Buying a television

18.
A. John has no experience at all.        
B. John has a charming personality.

C. There were so many applicants.         
D. John was so lucky that he got the job.

Questions 19 to 21 are based on the conversation you have just heard.

19.
A. To go to see the hip-hop dancing with her.   B. To help her fill in the registration form.

C. To participate in the dancing competition    D. To show Nick some nice things she’s got.

20.
A. Nick has never been on TV.               B. Nick likes hip-hop dancing very much.

C. Nick doesn’t mind dancing in the public

D. Nick only makes friends with hip-hop dancers.

21.
A. Two weeks before the final exams.
B. One week after the final exams.

C. One week before the final exams.
D. Two weeks after the final exams.

Questions 22 to 25 are based on the conversation you have just heard.

22.
A. In the street.  
B. In a bookstore.

C. In a dormitory    
D. In a classroom.   .

23.
A. From a famous sociologist.  
B. From the woman.

C. From his classmates.          
D. From his professor.

24.
A. It contains a lot of good pictures.         B. It is mainly about cultural differences.

C. It is a little difficult but very humorous.        D. It is the best-seller of this year.

25. A. Because he is really eager to read the book.     B. Because he has some classes to attend.

C. Because he is worried that the book might be sold out.

D. Because he has to buy 200 books for his class.

Section B

Directions; In this section, row will hear 3 short passages. At the end of each passage, you will hear some questions. Both the passage and questions will be spoken only once. After you hear a question, you must read the four choices marked A, B, C and D, and decide which is the best answer. Then mark the corresponding letter on Answer Sheet 2 with a single line through the centre.

Passage One 
Questions 26 to 28 are based on the passage you have just heard.

26.
A. Requesting one’s business card directly.

B. Accepting one’s card but not continuing contact with him.

C. Refusing a request for your business card directly.

D. Putting one’s business card in the card file.

27.
A. Say “Thank you” and put it in your card file.  B. Say “Thank you” and examine it briefly.

C. Say “Thank you” and put it away.

   D. Say “Thank you” and pass it to your secretary.

28.
A. To record the meeting one is attending.       B. To arrange the next meeting.

C. To recall someone’s name and title.   

D. To promote understanding between businessmen.

Passage Two
Questions 29 to 31 are based on the passage you have just heard.

29. A. How to face misfortune.
    B. How to keep a positive attitude.

C.
How to face success.
    D. How to make your self-talk positive.

30. A. We can imagine we are a sport professional.    B.We can imagine our cause.

C. We can imagine the outcome that we want.     D. We can imagine a beautiful picture.

31.
A. We should think about people that can help us.

B.
We should try to talk with ourselves.

C. We should try to draw on a positive imagination.

D. We should write down several positive sentences.

Passage Three
Questions 32 to 35 are based on the passage

32. A. The CEO’s rivals.   
B. The former CEO

C. The CEO himself.  
D. The employees

33. A. Things went along very well.
B. There were serious product problems.

C.
Sales dropped.
D. The new CEO had to be fired.

34. A. Hold a press conference. 
B. Reorganize 

C. Ask for more employees.
D. Blame the former CEO

35. A. More envelopes should be prepared.
B. He should write more letters.

C. He should consider resigning.
D. He should care about his employees.

Model Test 10

Section A Conversations
11. A. She used to be in poor health.            B. She was popular among boys.

C. She was somewhat overweight.          D. She didn’t  do well at high school.

12. A. At  the  airport.                     B. In the restaurant.

C. In a booking office                    D. At  the  hotel  reception
13. A. Teaching her son by herself.             B. Having confidence in her son.

C. Asking the teacher for extra help.         D. Tell her son not to worry

14. A. Have a short break.                    B. Take two weeks off. 

C. Continue her work outdoor. .            D. Go on vacation with the man.

15. A. He is taking care of his twin brother.      B. He has been feeling ill all week.

C. He is worried about Rod’s health.        D. He has been in perfect condition.

16. A. She sold all her furniture before she moved house.                          

B. She still keeps some old furniture in her new house.  

C. She plans to put all her old furniture in the basement.                          

 D. She bought a new set of furniture from Italy last month. .

17. A. The woman consider why the man didn’t return the book..                          

B. The woman doesn’t seem to know what the book is about.

C. The woman doesn’t find the book useful any more.                            

 D. The woman forgot lending the book to the man.

18. A. Most of the man’s friend are athletes.      B. Few people share the woman’s opinion. 

C. The man doesn’t look like a sportsman. .   D. The woman doubts the man’s athletic ability.

Questions 19to 22 are based on the conversation you have just heard.
19. A. She has packed it in one of her bags.      B. She is going to get it at the airport.

C. She has probably left it in taxi.           D. She is afraid that she has lost it. 

20. A. It ends in winter..                      B. It still cost her a lot..

C. It will last one week.                   D. It depends on the weather..

21. A. The plan is taking off soon.              B. The taxi is waiting for them.

C. There might be a traffic jam.             D. There. is a lot of stuff to pack.

22. A. At  home . .  .                       B. At  the  airport.

C. In the man’s car.  .                    D. By the side of a taxi.

Questions 23 to 25 are based on the conversation you have just heard.
23. A. She is thirsty for promotion.             B. She wants a much higher salary.

C. She is tired of  her present work..        D. She wants to save travel expenses.

24. A. Translator.                           B. Travel agent.

C. language instructor .                   D. Environmental engineer.

25. A Lively personality and inquiring mind .    B. Communication skill and team spirit.

C. Devotion and word efficiency...          D. education and experience.

Section B

 Passage one 

Questions 26 to 28 are based on the conversation you have just heard.

26. A. Her parents thrived in the urban environment.. 
B. Her parents left Chicago to work on a farm.

C. Her parents immigrated to America.      D. Her parents set up an ice cream store.

27. A e taught English in Chicago.             B He was crippled in a car accident

C. He worked to be an executive.           D. He was born with a limp.

28. A. She was fond of living an isolated life.    B. She was fascinated by American culture.

C. She was very generous in offering help.   D. She was highly devoted to her family.

Passage Two 

Question 29 to 32 are based on the passage you have just heard.

29. A. He suffered a nervous breakdown.        B. He was wrongly diagnosed. 

   C. He was seriously injured.               D. He developed a strange disease.    

30. A. He was able to talk again.              B. He raced to the nursing home.

   C. He could tell red and blue apart.           D. He could not recognize his wife.

31. A. Twenty-nine days.                      B. Two and a half months.

   C. Several minutes.                       D. Fourteen hours.

32. A. They welcomed the publicity in the media.  B. They avoided appearing on television.

   C. They released a video of his progress.      D. They declined to give details of his condition.

Passage Three 

Questions 33 to 35 are based on the passage you have just heard.
33. A. For people to share ideas and show farm products.

   B. For officials to educated the farming community.

   C. For farmers to exchange their daily necessities. 

   D. For farmers to celebrate their harvests.

34. A. By bringing an animal rarely seen on nearby farms.

   B. By bringing a bag of grain in exchange for a ticket.

   C. By offering to do volunteer work at the fair.
   D. By performing a special skill at the entrance.

35. A. They contribute to the modernization of American farms.

   B. They help to increase the state governments' revenue.

   C. They provide a stage for people to give performances.

   D. They remind Americans of the importance of agriculture.
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